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S SATRINE DA
- — — =2

O USRS E| AB(SEHYSA/HYLL - 0F)

chell SATE X4 (£19): &2

s

_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0] &F o e HlE2
203 HEF=4H 5,000 5,000 0
03 AHFAHRFAH 5,000 5,000 0
O TNRAEZSLNLEHARI R ZA 5,000
206 = Hl 67,000 58,800 8,200
01 MZHl 67,000 58,800 8,200
O=sgaaodsiz 15,000
sS85 1Y 28,000
Mgt ASH 12,000
ONESZ O, de2Y 12,000
207 SAOHEH| 205,400 205,000 400
03 AlIE& I 205,400 205,000 400
I XIXIOf &8 A 42,800
O=&e+g 2&+1,000,000& 22! 4,000
O2H 010+ 20 8 S b2
100,000 +60S *35 18,000
OXHAMSSHEAIZ L
20,0003 »100kg 85 16,000
O4ZHI LMY 30,0003 *40kg*4 5 4,800
S S XI0f & & 42,800
O=&e+g 2&+1,000,000& *25 4,000
O2H 010+ 20 8 St 2
100,000& +60S *35 18,000
OXHAMSSHEAIZ S
20,0003 x100kg 85 16,000
O4zHI LMY 30,0003 *40kg *4 S 4,800
IES == SNIG P F, 54,500
(OFSL; Enget 70,000& 2000t el 14,000
O2H 01072 2201 8 S bH 2
100,000& «65& *35 19,500
OxESHietAt=2 20,0003 »150kg 55 15,000
OASHI LML 30,0003 »40kg*55 6,000
20 SZ At 27,300
O2H 00+ 721220 8 St 2
100,000& 355 +3& 10,500
OXHESHEAZ 20,000& »100kg*6 5 12,000
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M HIOS&S )| A (sEHHY

el AAxE XN

SNBSS - MEAY - BES 0l &k o4 e bz 2
OuSLILHMFL 30,000 »40kg*45 4,800
O =S E e 38,000
O&=00I=7< 150,000 *100kg 15,000
OMAIZ 1L 6,000& »20kg =150 18,000
O4zLI LMY 5,000
301 YotEa= 4,000 6,000 A2,000
10 BAIAHIEAS 4,000 6,000 22,000
OWEEN2usHAHE
200, 000& 5% *43| 4,000
405 e SHI 26,200 17,000 9,200
01 XA ESEHSHI 26,200 17,000 9,200
OHSI1(500) 400,000& »5CH 2,000
OXtel & a2 (1CH) 3,300,000 *1CH 3,300
CIALZBHE DI (1CH) 4,000, 0002 *1CH 4,000
OXSALZ 20121 (10CH) 1,190,000 & = 10CH 11,900
COHEED(1TH) 2,000, 0002 *1CH 2,000
OFTMS(1CH) 2,000,000& = 1CH 2,000
CIOIO1 24 (1CH) 1,000,000& = 1CH 1,000
MAD|IBIAIY &5 375,000 185,000 190,000
201 ZEH2EH] 20,000 20,000 0
02 =&29gHl 20,000 20,000 0
OHAFAEZHIZIIEAEER 2l 20,000
401 AIEHIZROYI 355,000 165,000 190,000
01 Al&HI 355,000 165,000 190,000
1S eH O 2t D1 O BFAH 1 Xl 40,000
OEZALC-SZH&EHI22 20,000
Odads-=HH L LH WA 20,000
OMAS =0 Z Al &AM 30,000
IESE=p~- PSSP - g M| 20,000
OMMASHEI|ILEHIE= 15,000
Ooi===SHi2 A 45,000
2o ol 2t 2 Hl W Al 80,000
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ool SATE E A (e19: @8
_ _ MNuE o
A -3 -H2A(SH) - HEAMY - BES O AF K Ol AF o8 HwsZ
SEEFTEEEEET 15,000
(ot ar AR Z S T & x| 70,000
NET=ETE T 106,200 166,600 60,400
201 Ygreg| 24,000 71,600 A47,600
01 AR Zell 24,000 12,000 12,000
DA PR DN U RO S TR
40,0002 %3002 12,000
OSCHERENEALLE
24,0002 #5000+ 2] 12,000
202 01| 15,000 20,000 A5,000
01 =Uhord| 15,000 20,000 A5,000
mERYS B R E IR 15,000
206 Mzl 12,000 15,500 A3,500
EEE] 12,000 15,500 A3,500
DA RS HL22IBERY
120,000 * 1005 12,000
207 SN Y| 53,200 57,500 ~4,300
CEREEEE 53,200 57,500 4,300
SREEIETE 38,000
ONEZ0I2Y 100, 0002 * 100kg 10,000
OLHIDIONZ 24 0] 4 S Hf 5
100, 0002 x50 *3% 15,000
OXIOTAISBUIEAIZ 20,0002 *100keg 5% 10,000
OAZUY YK 7L 30,0002 *20kg+5% 3,000
ISEIRE==2AY 15,200
OSCH=2[7Y 20,0002 %5000+ 2| 10,000
OSCHEZIZZA(BHLIS) 5,200
405 Xt S| 2,000 2,000 0
02 ATl 2,000 2,000 0
(0 HEERAREST A 1,000,000 *23| 2,000
HA BT 24 208, 151 181,880 26,271
HA SN B 208,151 181,880 26,271
101 o121l 6,799 6,680 119
10 JIZHIZNESS 6,799 6,680 119
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| &

HE: HIO2 e £)| AE(SEHSSL/HS S - 0 E)
el AL 2X 2 (el =
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
DIZHZZ2RHEE = 6,799
OFAXTZ 2| L= HX Y
38,8503 x7H +x52 x53] 6,799
201 et 81,352 75,200 6,152
01 AtS2cld] 13,500 31,500 A 18,000
OFsz=FAS2Z(502) 300,000& *504 2 1,500
OB HE=== 1,000,000& x12& 12,000
02 =229 67,852 43,700 24,152
OEAMANESH7A 2] 10,000
03222 HAl 37,852
O4st=Ex 300,000& 123 3,600
Od&st= 300,000& 122 3,600
OHEESEANEZ 530,000& 123 6,360
ONE3Hz(HH) 130,000& *12& 1,560
Ogbtald = (1081 ) 45,0003 122 540
Osdgss 16,000& *12& 192
OXnsSxEE = (3U) 2,500
OXsxt, edNEREdas S 1,500
O=asdllz 1,500, 000& 123 18,000
O=2tsthe| 10,000
WbNE=Fale sl 10,000
O2EXNHERFU 5,000
OXNsXHEH R AL AZ S 5,000
307 QI2t0|A 20,000 20,000 0
05 QIZtRE 3 20,000 20,000 0
OFAEAEY 20,000
401 AIEHIZL =0 100,000 80,000 20,000
01 AlI&HI 100,000 80,000 20,000
L0 EFSSHEHEX 20,000
COAMESHEANEES=E 2 70,000
OFAAE SALHIES 10,000
HHSAAH (SAXRNLATA)(IIEH/IIEH) 1,009,537 989,368 20, 169
|




SHT SATRNLRA
M LAY (AR LARA)(IIEH/IIE
&Rl el 2| (el =
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2

ol 2| 890,627 870,108 20,519

el | 890,627 870,108 20,519

101 el 831,507 814,168 17,339

01 JI=a 437,578 425,269 12,309
OASH 66,082
O¢E(43) 5,506,830 x1H 123 66,082
Os=H 342,919
Ob= (265 8) 2,871,900 x1H « 123 34,463
o6z (162 8) 2,121,500 *4H 12 101,832
ogz(11E8) 1,488,800 x2Z 123 35,732
OHRAH(155E) 1,989,900 *4H x 12 95,516
OJls82 (178 8) 1,749,000 x2E 123 41,976
OJIs9=2(35s) 919,600 1 x12& 11,036
OJls103(5&E8) 931,800& 2123 22,364
Jaos(32+=) 28,577
O&dz2=¢ 342,919,000& *1/12 28,577

02 =¢ 89,490 93,923 A4,433
O=n2 = 39,899

8,312 «16& »10Al 2t~ 12 15,960
OANZAZ R+ (ZLE)
8,312& 16 »15A1 2+« 12 23,939
OFH=EOIE+g) 14,240
Ot = Xt 40,0002 x 172 +0.78+ 122 6,365
OJIEItE 20,000 x17E x1.48x12& 6,039
Ox1=2 30,0003 17 *0.30% 12 1,836
OB (XHEHIEX+E) 4,958
osstd 51,4002 x 178 +0. 19+43] 665
Onsshd 420,790% 172 +0. 15+43] 4,293
O8A=L(F2=GHA3) 12,240
0258014 130,000& 2 »12& 3,120
0O20E 0l af~25 01 8+ 110,000& »2H « 12 2,640




S AR SR
M A SAAH (SARRINL AR A)(IIEHIIE
chel: olaiedy|
2A - B HR () - MBAIY - BES Off Ak oK CEE
. ct o=\ I T ° . [= e e =5 0:”/.:"%
O15E 0] &~201 ] 2 80,0002 x5 + 12 1,920
O109 0l &~15= 0] et 60,0003 »3H 128 2,160
054101 4~1011 0] 0 50,0002 x4« 12 2,400
DM+ (S+X222Y) 6,120
OS+X224g(EX)
30,000& 17«12 6,120
OFULH(AB224H) 1,200
ORIgz2f+g 50,0003 »2ZH «12& 1,200
OF UL SHZTRALY) 1,800
OEYHIRAA=E 50,0003 3 «12& 1,800
ORUSHUHRIPISL) 993
OUSBTR2A+L(63952)
1,722,9002 x199+0. 048+ 12 993
DML (SE+LRLE) 3,600
OJ1&g 24+ (43-53)
50,0003 »2E «12& 1,200
OJ1&g 2+ (62~73)
30,0002 *3% « 12 1,080
OJ1&Y 24+ (830I5})
20,000 x2H x 122 480
Ot 2 (&S DI AL 20,0003 »2H «12& 480
OIt&EZ3 (1A 30,0003 *1H«12& 360
OFH4+g(dPgR24Y) 3,840
O gR=d 80,0003 x4H «12& 3,840
OF (MR S Y2 Y) 120
OfIgaotd 2tel 10,0003 »1H«12& 120
OF UL (NHSHSHLHH Y2 4) 480
ONSXH2MLHH LR4Y
40,0002« 19«12 480
03 HHZAlH| 26,520 26,520
OF Mz A 130,000 *17F 122 26,520
04 WSS x| 24,240 24,240
5= 140,000 1H x 122 1,680
Uee~7a2 130,000& «8H 12 12,480
(182015t 120,00024 +7 2 » 128 10,080




S SATRINZ A
HE: NS AAY (SAXRIMLATL)(IEHIIE)
chol: ol 2| (649 &2
_ _ _ Muo
SA-BH.C(BH) - HRAY - B Ofl & o il i~ o Rz
05 FEFIH| 34,292 33,549 743
O =St 342,919,0002+1.2/12 34,292
06 JhH X2 57, 154 55,915 1,239
mb/S T 342,919,00024+2.0/12 57,154
07 oIt At 21,303 20,694 609
[1910b At Hl 409,001,0002! +15/288 21,303
09 PIUHA2EX24 140,930 134,058 6,872
0ol123 53,816
O =2 55,640 %12 2552 14,189
OZQMUUA & 22|
38,8509 *4% #2552 39,627
4012 53,816,002 *1/3 17,939
OFs+Y 10,975
OIAIN =B 55,6402 %12 %522 2,804
OZQMAUA & 22|
33,8501 #42 x522! 8,081
m[=PrEe= 3,588
OB 55,6401 %124 %172 946
OZQMUUA & 22|
33,8501 *4% * 172 2,642
mNEEEEES= 17,116
OIAIN =B
55,6408 %1.5/8+ 12 +25A] 24 128 3,130
OZDMAUA & 22|
38,8502 *1.5/8+4Z x40 Al 2H+122 13,986
Oggagsy 15,196
OIAIN =B 55,6402 1 5% 1% 42 122 4,007
OZDMUUA L 22|
38,8502 1 5x4% 42 122 11,189
Om = 100, 0002 *58 x23| 1,000
EIELTELEEE ST
70,0008 %53 22 03| 6,300
mEIRNE 2,0002! %52 x252 * 128 3,000
mI N R 12,000
203 Y=Yl 9,980 9,680 300
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SN EB -GS - MBAY - BES 0 & 24 e HRE2
01 Jl22AASFY| 3,300 3,000 300
04 3,300
02 HA}MASFTY 680 680 0
BEEINPIESEE-E] 40,0008 %179 680
04 RASAYSETY| 6,000 6,000 0
[IJIZ(152015t) 250,008 204 = Af+122 6,000
204 HMRLAL] 46,260 46,260 0
IEEEEEESEL 6,000 6,000 0
O4% 400,000 124 128 4,800
O 10,0008 * 124 128 1,200
02 HZ2EH| 31,260 31,260 0
OxZ= x| 31,260
043 400,000%! *1% 128 4,800
053 250,000 * 1% 128 3,000
063,21 T AF 155,000%! 8% 128 14,880
08393, J1583~02
105,000%! *5% 128 6,300
0215103 95,0008 2%+ 122 2,280
03 SHYRLHB=H| 9,000 9,000 0
Ol s 50,0002 * 152 128 9,000
303 Ea3 2,880 0 2,880
01 Za2 2,880 0 2,880
mETIEERS=, 80,0002 3%+ 122 2,880
S| 118,910 119,260 A350
P[] 118,910 119,260 A350
201 Yur2 o] 99,560 102,760 A3,200
01 ARl 98,960 102,160 A3,200
mEEIER=T 33,700
OSESYHHBZAN
5,0002! 1,000 %25 10,000
OFLIlMgE 50,0008 * 128 600
OZHOIXNRNE+E 200,000 *128 2,400
OLSASLSIIENT 10,000
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7,000
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